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BUSINESS MATHEMATICS
Paper : 1-3
Full Marks : 80
Pass Marks : 32

Time : Three hQurs

The figures in the margin indicate full marks
for the questions.

Answer question Nos. / and 2 and
any five from the rest.

1. Choose the correct alternative : 1x10=10

@ Let A={13, {1} {l3}}. Find which of the
following statements are correct. :

() {3}c4
(i) {3}c4
(i) {1}e 4
(iv) 2e4
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a
and B be the rOOtS of the y
equ

2x —~ 5y +
D
b 0 then the Value of a2 ;
‘ 1 iv) 20
(Q) 174 4
() 4 In an LPP ;
(i) 0 (i) Only the objective function is linear
l
(ii) Only the constramts are linear
(iv) 2 (iii) The objective fanction as well as the
3 constraints are linear. '
(iv) None of the above.
d equation of Hyperbola 18

The st_andar

(c) The r. .
ra
5 nk of the matrix A:( g
be 2. 6 =i ealipe 2 2
e :
. (i) 2
‘ ¢ of these. (i) x2 i y2 g
b
(iv) y2 =4ax

@ 1If | ‘ '
0g; 27 T
3 +10g3x =4 then x is
thh of the following is

(o
(# 2
(i) F(4)cB
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(G K :
() F(4)=B gwer the following
iii) F(A):)B i ] 3 ; : :
(v) F ] : Define constant function and ident1ty
. (B)c 4. : ‘ unction- i
(h) Th f by, .
e characteristics of logari (b) pind the value Of 1021000 2 ° iven
number 45-61 i Ogarlthm of t y v
e log\02/0-30\03
?_i_)) - Find xpansion of
.0 0
(V) 3 (261’\’)(:) .
(i)  The 5th ter The total cost (x) o) o 1
m ; :
o 8l b thatserienall 3. 9.7 ; c(x)=0 0005x — 2 _30x +3000>
(i) 80 > i here X ¢ output Determin® average
oy cost (AC) and Marg | cost MC)
Gi) 21
(.2 € x7=y A )P“" find L4
) Find the oth term of a series in GP. whose
1

Ath term is 1 and Tih term is g

e
he co-efficient of x° i
in the expansioiiff

(rx) is
(3" 28
Yl ;
Giti) 29 @ ¥ logx);yza(long—logy),
) 21 Y ‘
2o =
that e
5
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et f@+h)- Q) .
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© If g b, ¢ are in GP. and if 2 is the A
between @ b and g jg the A.M. betwee

¢. Show that 9 ikl

i |
where f(x)=2x g

A i db
. (b) A function fis defined by

(x) Sin—lirex, x#0
sl
_— = 2 A f ¥ X : 0 i A
o =9 oo Lsalll 4
that f is continues at ‘
(@) - If a, [ be the roots of 22 —bx+ 2 g S
1- 2%x3=6
the equatiop Whose roos are —— : 02 Lt a . (any three)
o (a) Find derivative
1-pm :
I+
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month a totg] cost C

1 )
C = o 3 2
RS(3x ~5x"+75x+10|

FEvaluate /99 to 6 places of decim‘als‘. 3

« 4
Find at what level of output th l Expand the following : (x——a ’ 3
Cost attains it minimum ? e § PSR ‘ v
6. (o) Fh_eZtOta;;OSt of output x giyen _ | (;1) Find the inverse of thé matrix‘::
Bt Kane g 2\ A i
Find Z) Cost when output is 4 unis | L s B
l/;nl\;tesr'ag:,re cost of outpuyt of " 30
(1ii) i\girfinal Cost when outpyt 1 (b) Show that
1
(b) fgznilzefollo;ing L.pp graphicauy 1+10 141.0, 1hl=at(@+3) ;
X+2y<6, 4x+3:y7;;25,y x,sjjbi%ﬁ o L
i

(@ Find the 7t} term in expansion of
10
( 4x — LJ 3
vl e
b i |
(6)  Show that the middle term in the expansi ;
g T (2n-1 ‘

b i L 1 gl )

. . : i

(c) A retailer purchased for his shop 10kg bu‘f er
20kg ghee and 40kg cooking oil. Cost prices
S Rs 45 Rl JadiRe 15 per ke

' ind 1 t he spent for
respectively. Find the amoun P 4

: i the articles.
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ey of 150 students it was found that
60 students

G g
- A man -
int -.
Rs. 14,500 from a friendterest_fr ce loal Be)  1n'asury
to r¢ 40 students studied Physics,
studied Chemistry, 50 students Mathematics
11 the three subjects.

it in 10.in
.Instalm
ents. He pays Rs. 100!
ents studied a

first i
in
stalment and then in
creases ¢

and 15 stud
77 students Physics and Chemistry, 37
nd Mathematics

students studied Chemistry @
s studied Physics and

and 25 student

Mathematics. Find the number who studied

only Physics and the number who studied
! g

none of these subjects.
three sets, prove that

instalm
precedi en-t by equal amount :
ng instalment. What w'n over®
ill be his |

instalment ?

(b) The AL
theirsum of three numbers in GP ;

product is 216. Find the -F. 18 26 a

numbers.

() Am
nan borro
monthly inStlenRS' 5115 to be repaid in’
doubl ‘ ents. If each i ; (d & B and C are any
. e the value of the | nstalment | M (BﬂC) (U n (AUC)
of 1st and et a ast, find th ' = B ; 3
t instalments. ¢ valy ‘ .
3 )
: 1. é Integrate the following : 3%x3=9
10, @ If fx)=2522 . ¢
sh
3% i1 o that (i) S xe dx
M_ 3x : ( ”“ ]
e : og\tan X
the
graph Of the fOUo i |
] (iii) §2 e 5 dx
X
Contd.

f(x)=’x[,
47 (1) BMAT 13/G 1
10 v
47 (1) BMAT 1:3/G



